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TOPIC [2022 45 3 [H]

Agree or disagree’ Industrialization has had an overall beneficial effect on
humankind

1. Industrialization contributes to global economic growth.

(EF LI HROBEREICEMYT 5,)

2. Industrialization contributes to science and technology.

(EZEALIEFFE & EIICERT 5,)

3. Industrialization will lead to the alleviation of labor shortage.

(BRI AFFRZENT D,)

7 L—A{k : 1. its contribution to global economic growth
2. its contribution to science and technology

3. the alleviation of labor shortage

[2013 €EEE5E 3 [m] 1 YRERER]
TOPIC: Does the mass media have a beneficial effect on society?
(FAAT A TS AR REREEER D7)

TOPIC: Agree or disagree: Japan will benefit overall from hosting the 2020 Summer

Olympics
(B xtn : BRI 2020 EEZEA ) Vw7 2BET 5 2 L TERIICFIE 25
%)



